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I COMPUTER 5y - y
~ Time Allowed : 3 Hoy rs gt Full M
ull Marks : 200
If the questions attempted are in EXCEs
s of the prescribegd number, only the t
first up to the Prescribed numhber shall be valued and i il

the remaining ones ignored.

Answers may be given either in En glish or in Bengall but all answers must be
in one and the same I nguage,

Answe r any five questiong

1. (a) Minimize the following using
i) F(A,B,C,D) =

ii) F(A,B,C.D)=

Ka maugh Map
NMm(0,1,3,8,10, 15) +ITd(11,13,14)
2m(0,1,2,5,8,14) +}7d(4,10,13)

(b) Find the minimal Sum-0f-products form of the following F ;
F(A,B,C,D) = AB+KBC+ABGS&D

(c} Calculate the base of
equation is true ¢

'”E-E = 21.1

& number system such that the following

(dl Perfomm the arithmetic opration (-25) 10 ¥ [-IEIID in sign 2's
comp lement method.

(e} Find out the 6's complement of {115517‘ B+8+8 4848

2. (a) What is a complete binary tree 7 Illustrate,

tored in mw-major order
A two-dimensional array A.{BJ{B_?H s
i with base address 128. What Is"the address of /3 7/1 7

(c) Which sorting algorithm is best if the list is already
sorted @ Why 1

llowing expression
on tree ¥ FRepresant the fo
Bt o :tﬁ:ﬁsaéumant on the result that you get when the
z‘iggi: tre;naed in preorder, inorder and postorder :
re

(a-b) / ( (c*d) +e) 10x4

ow that the sum of degrees of
is mplete graph 7 Sh a
> ‘:];;tthe :EErtﬂiceu inqﬂ graph is always even.

h on an undirecteq
ation of Breadth-£first searc
e Expl;igi::l: gﬁ:; taking vertex 'b' a&s source 1
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(e)

(a)

(&)

Give a recursire Procedure/function to se

in an array using binary search.

Sort’ the following sequence of keys

66,77.11,88,99,22,33, 44,55

Solve the following L.P. Problem i
Find the minimum value of

£ = 3:1 + 2

subject to the constraints

Whe e

There
these
threa

.‘.:‘:n::l + 12 -;-,&
xl + x? 4

X X

1-!'

are two factories located at pPlaces 'A'
locations certain commodity is to be del
depots situated at P,Q and R,
of the depots are respectively 5,5 an

2 Z0

arch for an element

using merge sort i

S+1045+10+10

and 'B'. From
ivered to each el

The weekly requirements

d 4 units

of the

commodity and the production capacity of the factories at "A'
and "B' are B and 6 units respectively,
portation per unit is given below:

F rom/To

Cost (in Ra.)

P

Q

A

160

100

150

100

120

100

The cost of trans-
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‘6. (&) Given the cireuit below
SL

gV EwmA

5004L
40048

Find the open circuit voltage V

T TSRS

BM- (0) C8-1/17

-0 A

OB

Ty BCross terminals A and B
of the Theyenin Equiwvalent Ci rettt.

(b} Find the value of R (in (L) for maximum power transfer in
the network shown in figure below 1 A0
T R NNAANG L AAA,
P e
2040 SA

(e) i) State Superposition Theorem.

11) Find I 1in the circuit shown below using superposition

Q
theorem I, 1 2
Dy v VR > A,
30 Y
A % |
12412+ (4+12)

tion
network congest Sy
7. (& !!Pi:i:lgg"ﬂ:.m with the help of an illustra
sta

(b)
size of 5-
transmission.

{s controlled using 5low

ith window
ng window protocol W
gxplain and 1|,1,l,“§;::t§h:1ﬂme improve the efficiency of

ctin

Explain how single Error corre g

(¢) what is Iﬂrityﬂbi:rit}' ﬁta. If an 8-bit data 10101010 on
(SEC) Cf‘*’ See 8 Pelved as 10111010 then how the SEC Code
transislion

L}
111 detect and correct this error &
"

E 754
on fileating point 1EE
(ADExplain the linql;ig‘“zﬁ:iﬁmh.r ranges that can be

ion .
HE::::::; py this :Iprn-nutim
e

2) in 1EEE 754 rep resentation.
11} Convert (124.32 40

notes on
Write lhﬂﬂﬂ SleLpion multiplexing
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